/* Here is my first relaization of project one. The way that you play it is by mixing and matching

 the various parts with eachother, the easiest being to just call each section in order */

// Region 1 //

Scale.directory;

(

a = (

t = TempoClock(80/60);

Pbind(


\scale, Scale.dorian,


\instrument, "Sine_1",


\degree, Pseq([0, -6], inf),


\sustain, Pseq([2.3, 0.7],inf),


\release, 0.5,


\pan, 0,


\octave, 4,


\dur, Pseq([3, 1], inf)

).play(t)

)

)

(

b = (

t = TempoClock(80/60);

Pbind(


\instrument, "hat",


\dur, Pseq([0.25, 0.25, 0.5, 0.25], inf),


\amp, 0.8

).play(quant: 4)

)

)

(

c = (

t = TempoClock(80/60);

Pbind(


\instrument, "Kick_Triangle", // This is where the name of a SynthDef goes in a Pbind //


\dur,Pseq([0.5, Rest(0.25), 0.5, Rest(0.5), 0.25, Rest(0.5), 1.5], inf),


\amp, 0.9

).play(quant:4);

)

)

(

d = (

t = TempoClock(80/60);

Pbind(


\scale, Scale.dorian,


\instrument, "Sine_1",



\degree, Pseq([[3, 5, 7], [4, 6, 8], [0, 2, 4]], inf),


\octave, 4,


\dur, Pseq([0.25, 0.25, 0.5, 1, 2], inf)

).play(quant:4)

)

) // Let it play for a while, or bring layers in and out, then move on to Region 2 //

// Region 2 //

( // Run this to begin the transition from Region 1 to Region 2 //

a.stop;

b.stop;

c.stop;

d.stop;

e = (

t = TempoClock(80/60);

Pbind(


\instrument, "hat",



\dur, Pseq([Rest(0.5), 0.5], inf),


\amp, 0.8

).play(quant: 4)

)

)

(

 f = (

t = TempoClock(80/60);

Pbind(


\scale, Scale.dorian,


\instrument, "Sine_1",


\degree, Pwhite([0, 6], 5),


\sustain, Pseq([0.3, 0.7],inf),


\release, 0.5,



\pan, Pseq([-0.5, 0.7],inf),


\octave, 4,


\dur, Pseq([3, 1], inf)

).play(quant:4)

)

)

(

g = (

t = TempoClock(80/60);

Pbind(


\instrument, "snare",


\dur,Pshuf([0.25, 0.25, 0.5], inf)

).play(quant:4);

)

)

(

h = (

t = TempoClock(80/60);

Pbind(


\instrument, "bass_drum",


\dur,Pshuf([0.5, Rest(0.25), 0.5, Rest(0.5), 0.25, Rest(0.5), 1.5], inf),


\freq, 80,


\amp, 0.9

).play(quant:4);

)

)

(

i = ( // Give this a "one shot" as timing feels right for you //

t = TempoClock(80/60);

Pbind(


\scale, Scale.dorian,


\instrument, "Tri_1",



\degree, Pseq([[0, 2, 4], [2, 4, 6]], 5),


\sustain, Pseq([2.3, 0.7],inf),


\release, 0.5,



\pan, Prand([-0.8,-0.2, 0.2, 0.8],inf),


\octave, 6,


\dur, Pseq([3, 1], inf)

).play(quant:4)

)

)

 (// Stop everything but the hi hat //


f.stop;


g.stop;


h.stop;

)

e.stop; // Stops the hi hat //

// The Piece is Over //

